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MPORTANT INSTRUCTIONS

here are 150 Multiple Choice Type
( lfions

uestions carry equal marks.

¢ shall be no negative marks for
g answers.

se attempt all questions.

e opt for an answer which
8 most suitable.

R answer sheet will be supplied
‘separately by the Invigilator to
he answers.

h, out of which only one is correct.
1 have to choose that correct
ative and darken the

18 pen on the given OMR answer

®.©®
® ®@ & O

dircctions are hereby given to
refrain from correction of your
marked answer in OMR
‘sheet by rubbing or
ing or using white fluid '/
1er. In case of violation of this
tion, your result may not be
rocessed or you may be declared
isqualified in the exam.
No., Question Booklet Set Code
Question Booklet Serial Number
Id be written on the OMR Answer
t with the circle corresponding to
digits be blackened with
/Black . ball point pen only
fully and correctly.
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WM WA QE 9T THT
General Knowledge and Other Bkills ' \
y 4 + s
‘1 ( Q.Nos: 1 to 60) .
: ). | . 1
1o T e B s (G i) wifger o fafiy fror o7 @i e =mfen’’?
' (A) Yo HERIETE Wew (B) 2o o 3o mﬂﬂ' \
' g .
Q) Sio o THo T . (D) TowfEm g %
Who said, "The Principles [Dil"ec__Principles) should bc‘madc%e basis of all
¥ \ : _
the future legislation" ? ' i | : g l e AT
(A) Pt. Jawaharlal Nehru _ l _1;- (B) ..Dr.B.R. -Ambe'dkﬁr 1 *i\
(O  Dr.B.N. Rao (D) . Dr. Zakir HussaiﬁT | 3
[ *.
¢ 3 : o . = | \: e
L2 e § @ P o o g i
GV (B) %{qéﬂ
© HETE o Fefwm
\ : g
Which ‘Of the following does p_g_t; ) ‘ g to solar sysi:cm ? il . I""-*---—r-"l'
l _ (A)  Planets (B) Comets ‘ ; I
' ' * ; & 4
L : (C) %ﬁsterolds 1 (D] | Nebulae i tl
. A \ . e
o 3. TE-RE gl I Ay o i fmyiy @ T el S ¥ =
ez i iy IS
(C) b ‘ _ ki '
e o e N
3 i ) |
[ 216809 ] Be;gﬂ .................................................. e
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The plants which grow on salin, - e as ( .
I

(A)  xcrophytes hydrophytes

succulents halophytes
\@’ﬁmﬁﬁmmaﬂmwﬁnﬁ mﬂaﬁ@hﬁﬂmw
AR ?

e T
© 9

Which of the following colours of |, )

.'.
ndergoes the least deviation while

passing through a prism ?

!_A) " Red \

(C) Yellow (D)
b@““ﬁammmwmwﬁ% > 8

(A) qRd ! -

JQ/ G|
The world's largest Telescope is in whic
W mdaa: ()Y B B 3
(C) China ~ United States of _}\meﬁe_a ,

N Waﬁrqﬁw%ﬁ@m#wﬁ

T, T @ R geR e @ 7
(A) . |

()

Pointing towards Garima Ra_kesh'said- "His father is the only son of my father.
? . i o - ;

How is Rakesh related to Garima ?

\\(A) Brother R Father :

Nonc of them y LA

[C) UnCle k.
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g

! : ITH 97
ot o 6 o A T
WwﬁmwTaﬁTQSTﬂﬂﬂﬁﬂafﬂﬁﬂgﬂﬁﬂ??ﬁz‘

fa | g€ 3R WA e g we ® P

A sHR 109
go TeX

and then turned left and Wa;kcd
left covered 20m.

€ 40MR D)
Samir went 15 m to the west from his houseé
20m. He then turned cast and walked 25m and finally turning

How far was he from his house ?

A) Sm W () 10m )

(€ 40m (D) 80m ) ’

fedt @R T § A DEEP 1 60 7T RABIT ¥ 100 fer@n <Y, T HAIR %1

a1 feran e 2 9 L) S B

a) 27 | : _AB), 72 0.

(© 90 | T 4D) 160 . ’

If DEEP is coded in a symbolic language as 60 and RABIT as 100, then How-will

HAIR be coded ? | |

(a) 27 - | 72 |

© 90 | o) 160 .. SR
:ﬁ@wkﬂwwWwwm@aﬁ r

.ﬂﬁ"lx:maﬁl#r, l.-,:__

8+4x2-4+2=7?
(B) 28

(A) . 2
a2 (D) 36 il

() 32
'+ ' means ' x ', '=! means '+ 'and'+'means'+"'then

- J 5
(B) 28 'ngl:l L f—,l;f:"Z‘

If 'x' means ' — ',

+ 24 +2=7
87‘435_2_*4%__

@ i
)inz 8 D) 36 adgr
: |

e ranmanny

1

-
TRR— ¥t
L T T T L L » Z2

PRIt R s sy naarassananansasanRanatRRTaRRRRSRRESY

_ '. ik
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(A) S5 June

. B g brat
The 'World Environment Day 15 cele
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x . L I - .
.5 afog?
we cannot S€€ during 2 R

For whith of the following cau :.' _ -
S n Reflection
(A) Scattering of light (B) =

i . R'effaction -
(C) Internal reflection (©) ™

\@"ﬁmﬁ@awﬁww

o+ | Pt g 3
‘_(C) | '21‘!‘@[132:&[ ) »; (D) U ICIECA b > N \$/f’ |
‘ . Which of the following rcpres;nts a billion charactcrs e E
(A)  Kilobytes . (13) Glgabytes
(IC) Terabytes ' [P) Megabyteé K
o Ty R o SRR S il i o
T o e
© worE (Fiies) (D) R J
What was the early capital of Magadh ? ’ \ |
;(A) Vatapal - (B) Champa l
(C) Rajgriha (Girivraja) (D)  Pataliputra |
1}5@ ﬁmﬁhﬁﬁmﬁﬁwmwﬁw*mm 3ﬂ§.—<-11%‘ :
S e | (B) I
o Wowede D) EEEH
Aol e foﬁowing fuels of energy, which is the most environment friendly ?
| ‘(A) | Biogas ' () Ethanol
- (0 CNG . (D)  Hydrogen

------------------

216809 ] Set-H
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© e aRER (i
Among mc.following whom did K, i round tion on May 16 ‘2019 announce the _'E ;
winner of 28" Bihari Puraskar ? . . | ( i
(A) Manisha Kulshreshtha I'.-- Leeladhar Jagudi N ". J
(©)  Keerti Parihar ) None of them. ' b
125, 2019 1 7 et 3 54 o @ @R o S S e Ty ? |
W e e B st i 2
~ 54th JnaI}pitfl Award was given to w | ghsh ;nlitef, in Néw Delhi on June | %
12,2019 ? | | : } }
(A) Suhil‘ Shrivellsta\fa : - 7, Rrﬁitav Ghosh ’2
(©) Yuvraj Bhattarai | Leeladhar Jagudi 3 { ff.
Among tﬁé following, ‘who is the Chif;f ection Commissioner hof India at %
present ? R ‘ \fi‘-
Sunﬂ Arora X 3 ‘ L}

(A) ASk}Ok La\ﬁasa

€) - Sushﬂ Chandra ')" ' None of them

, Wmﬁalqé 2019 I 6oﬂ‘§aﬁ3gwiﬂﬂﬁwﬂ@ﬁ@?ﬁmﬁm
*W&ﬂ?%mzﬁﬁqrﬁraﬂﬁ%
(A) T 2000 fq HE
(Cl To ;1000ﬂi%{q|3'

(B} Fo 3000 UTd HE
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NE

(A) Silicon ]

(C) Galium k3 (D) Germenium ll _ ‘

R HEAUH HT B T SR 1 ﬁq&ﬁw%qﬁfaﬂtﬂmﬁm% ?
ff ] ETHRIS _(B) 3*’1"@"“'14& '

(©) &R 16 D) DT 17 |

Which Article of the Constits 1 of India is related to nght Iio Equaliiy before '

law ? ' 0 :

...........

10 farmers attaining the age of 60 years 1o a|

L. ; 'l..
minimum pension p :
o nment from May 3

SMF over
«mall and marginal farmers. ) by the Central O

2019 is
(B)  Rs. 3000 per month

(A) Rs. 2000 per month
(D) none of these

1 vt @ 2019 1 T 3
B)
(D) ﬁﬁﬁaﬁé#ﬁ

(C)  Rs. 4000 per month
frvey firfan by Agfiyves |

(,y_m

(C) SICIE]
Cup 2019

The winner of world mix d team badminton championship Sﬁdlrman up

! o

s

(A)  India (B) China _ "” |

(C) Japan (D) v None of thcsg:’g-l .
frforiad | | forgenr WA § Wﬁ_ﬁﬂ@'ﬂm% 2

() Tafeer B wfEH ,j

(€ Tead Dy *i" h

Which of the following is not Uséd in making solar cells ?

(B) " Platinum :

| (B) - Article 14 __; '
(€] Article 16 oy D) Article 17 08

............
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N e AR R 7
Wﬂqﬁﬂﬁ?

() o Teo Jo 2 & Wy
© ® o (o 70)
The brain of any co;ﬂputcr is '
(A) AW
(C) Memory sontrol Unit (CU)
@) Wm‘ﬂtaﬁﬂwﬁqﬁ#w :
4 @ ] Fﬁi‘ﬁﬂ“ﬁ 2 9 B g
C) - a‘iﬂ@mﬂqﬁ_ = ki 2
At constant temperature, thel Is.pee;‘d of sound | \in cimum in which of the

following gases ?

g .

(A) ~ Hydrogen QN (B
| {:;% R ‘z;,[ v " !
(C) - Oxygen e - (D) e gases equal

s
® ﬂiﬁz%a‘mw%mﬁm@” g
\/:j f\\ =

,m/ 352" | ‘ (B)
(C) &T=% 371 : (D)

e] 305 -
; ' | Presiden ia in line with
+ 'National Emergency' may be declared by the " 'qf e

(&) Article 352 ° B) THS70

(C) Artlcle 371 & ‘ 12 .8

- [ 216309 ] Bet_ .............................. é‘r--zs'(n’ i 5;_'_

9/ 48
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g6, v oy R’ T ST ¥ 2
g (a) 29 | B) 229
€ 2 &Rt ‘ D) 22 H‘s‘

The 'World Wetlands D&Y’ is celebrated on which day ?

@ 2nd March (B 22nd March
(O 2nd February : (D) 22nd May
ﬁ?.' SRS ' fFY B @ e & 2

.
{
-
Sl i

P B g .
© frde p Ep N B i |
"Durand Cup" is associated with which of the following games‘ PrS |
(A)  Polo r (B) Foc;tballll |
(C)  Cricket 3 (D) HockeyJ R |
"wﬂnamfaw@ma.ﬁsam:ﬁm"mm? |
Ny e i —ter v e ' !
(C). TR Ew D i e
"Swaraj is my birthright and I shall have-it." Who éajq[ ? ‘.I e 3
(A)  Mahatma Gandhi . (B) Bhagat Sing.,{1
(©) Jawaharlal Nehru (D)  Bal Gangadhar Tilak
»@ kxmmﬁqmmﬁ:ﬁwwmhﬁw s 5
(A)  HHEEYHR ¥ \/f[g)' ;fmrm 1 e s
@ T AR T D) et g
(216805 ] Sephr IR
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included in the section on

(A) Human Rights

(B) Fundamental Rights of citizens

) Directive Principles of States Policy
(D) Nonc of these | Y
e TRK 3 ORI (ﬁqﬁm) €= T ;
[ 3 320
S o 48 | o L
© - =
' in the human bedy { 5 *F‘-“ i
The number of chromosomes 1m 2 e )
(a) 48 “ ® A
© 4 D) 42 i
e 15 s = A 5f 7 S =
G i Soa 15 8| 3G WEH 5 @S 0 S FF
~ . 00 TETEH FI HEa 15€! A A

b Y

i
3

L -
! P 1 five numbers is 12 The
: : e
average of the rest ié.,' o AR .t
| (a) « 16 ‘ 3\‘L\:K
= L (©) W4 - ' . N s'\ﬁ., 3
_ f’$ qﬁAB 3:4,B:C=5: 73R C: 3 "S—_‘Ql
. }M ‘ 3:7 | % : &
] © 21:30. ¥ "
| = T 11/ 48
"""" : [216809 ] Set-H .
48 A,
T
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b, Education is
In Constitution of Indin, Right to Free ang Comf _._¢mcntary

included in the section on
(A) Human Rights
Fundamental Rights of citizens

(B)

(C)  Directive Principles of States Policy

(D) Nonc of these

e v 3 Tt (EISNR) B @A )

A) 48 - | B 46 sy
A i ) 0 3
. B 3 . ' I i iy ; : : “(- = /
e3¢ "4 i /(Rr 42 ;y Lo
The number of chromosomes 11 the human body are 8 .

a) 48 . ® _

© 44 § (D) >
D 20 FETE 1 SR 15 %) AR o 5 e @1 2 @ s dEae &
— s g g - 3

© 14 i s o 13
{ ; N (1 £ .
: co - five numbers is 12. The

The average of 20 nu%BE;s is 15 and the averag
The Y ' 3

[

average of the restis’

&) 16 o
€ 14 .-'(b)
aﬁ:A:B=3;4,B:'¢;35:7aﬁ-{C‘;D=s:9

(B

M Sy B
© 21:10 "‘:r S
xR
2168 T et
o
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ANAC 1y wg ;g then A D s equal to

A 3:7 | 7:3
) 10:21
© 21:10 | -
e amaa w1 ufer 168 bﬂm:ﬂmmqmﬁﬁﬁlmw“ﬂ“? T
@ i e feree ¢ 3N 2 Rt % AT €
/w’ 32 HiX m 8
© 4™ (D) 16=ﬂz1’(,

| Aifference of two sides ig
1 { a reclar gle is 160 metre, and the ﬁxﬂ’c
The perimetcr O 3 \ O .ot e o
48 metre. Find the Si of a square whose aread qu

mec . e _

rectangle. by
(A) 32m | (B 8m .
| (D) l6m A

= 3 o 8¢ T I P

ﬂ gwow' == :
:

G/N'—/(d‘?) TRC

(A) "
\ ‘_ij/IESO !
N Y v inutes. The
. ' e in 15 mnutes.
A ‘man walking at thefrate of 5 km/hr crosses a b !dg .

' i L o
stres) 15 ;

length of the bridge (inm
B 750

Y

() 600
b "
. (c) 1000 . B (D) 1250&. | _
| \@_ A * A + cosec A=3 @t sin A;TT i % \
BN 5 = ] |
(A) 1 ! ,}

. 'T | G- 3
. ._ _ 0

‘/g;fr
) }y
’r ......... @;ﬁ(}\l‘r
o vt
/ﬁ’/‘—/'

/
1
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If A is an acute angle and cot A+ cosec 4 ._ | ‘ ue of sin A is
w1 () A

3
© 3 (D)
@fm A ST & e B TR

W - o 160,
@) T e el & A et = " £

\(9/ THE &F T |
— (D) T U T & HE

The Speaker of Lok Sabha in India is elected by the

(A) Council of Ministers

M3 1y
_ S
(B)  All Speakers of State Legislative Assemblies s Vb
X S
(C) Members of Lok Sabha ~ =
(D) Members of Lok Sabha and Rajya Sabha - @ % 2'-_:‘_&.-
A TRV g e e QB 1 p e 0y
@) Rk . QS Bk
\/ b ‘ . ‘E;?:Il'l :
(A = \ (B) k9 1
. - . B SR ’
3 o 72
ey e 3 g T e W ey f ey
| g - . e 2
Which of the following i a major source of ° . H' P /'Eré‘
(A)  Land » . (B) . \/ﬁ
: A K. : .
(©) Ash ffﬁin volcgi;nes . (D) W ui
1216805 | 8ot R 13/ 48 u

\

- N A :
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@

R RN 3N el Qe
(A) RIGCER

(€ B _ (D)

-2l srewify ge & 2
(B A

e - 376 - HAad

Which strait connects ';f? | Sea and Indian Ocean ?

(A)  Malacca || (B)  Bosporus
(C) Hormuz & : (D) Bab-cl-i\:dandeb
e § Q@ AR ERETT T AT 2

w @ AT

o i 1 3 I[D)_ gﬁﬁﬁlﬁéﬂﬁ A

Which of the followih; A Harappan port ?.

(A) Mahasthangéi;‘hi ‘" ‘ . ﬂ (B)
(C) Lothal % "N/« D) -

aﬁﬂﬁﬂﬁl‘(ﬁh'ﬂﬁﬂﬂ el
(A) ' 465 FTHT, 251131211&%
(B) . 3953171@'4 25 qasqf?m
() 372343@3 22 4 @1211&!111

W, i
() THH i ﬂﬁ
- At present the Consh tic n of Indxa compnscs 2
(A) . 465 Articles, 25r rts and 12 Schedules 3
(B)/ 395 Articles, 25 arts and 8 Schcdules |
(C) 372 Articles, 22 '_ s and 12 Schedules
(D)  none of these | |
1216806 ] Set-H '"m“"""'é‘('ﬁ'," a7 i
it .

Nagapattanam

None of these .

o --—--£S;—--v; =1
&
/
{
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’
£ ]

ﬁﬂﬁaﬁéﬁ%ﬁﬁmﬁmfmﬁ%;w ST (7) % T T S 2

JAK, KBL, LCM, MDN, ? Wi3%

@ OEP

(C) MEN : (D)

Which option will take place of (?) in the gy

JAK, KBL, LCM, MDN, ?

(A) OEP iy (B) NI

‘/ﬁ\ﬁfﬁf@'ﬂmﬁmﬁﬁ:ﬁ(pﬁm

16, 23, 31, 40, 50, 61 ?

yfzs | : (B) -
c = B A e

" SNEEL
K

= e I N
Which number will take place of ( ? ) in the follov
Mgk MR . | .

16, 23,31, 40, 50,61, ? ' sy
(A) 73

(C) 83

' g
AN 16 3
7..
e, "“}‘
1216800 ] ger L
.

]

!.' |
"
r pattern ? !
|
'.
i
1.
et 2
| H ‘ l!L
q lb‘ A
g e 29
=
4
umber series ?
[ 3 |
i'*"l-.' {
‘.I.. I_{.
3 15 / 48 !
b 0 W
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* .)A‘)’- Heel ‘\ 3 _. 3 48
J D) W . '

*

k',"Brick' as 'ﬁoﬁse', 'Hqéée' as Tpmple'; 'Temple’ a

'Palace’, then where dayou wor ship ? i u‘g

-

niz

(®) Tenipn?ty R
(D)  House ‘
foreht et w1 A GiguT 1 JGEFR forar ST, & 36t W f SHORT & ¥
feqmn sem 72 - ' | |

(o) FQMPR

(C) FQMRP "- (D) Q FM;R p "
.-I i ’kl{
k. rzlssog ] Set-H e

“4 -

8 L 16 / 48
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If LIGHT is coded in a symbolic langun 0y how will SHORT be
4 ] \

coded in that langgage ? A
A FQMPR o
o PaRRt B o EMR
@Mﬁmﬁszamaﬁwm% | o T e A1 A
</ Tt e S, o AuE B :
w S /{‘BT 6
) . '} ‘
© 12 | _ o 7  ( _ . ‘
A number bemg divided by 52 gives remamderl 'u;’ 'tf:mber is dividcd(by -
Pt - |
13, thcicmamderwillbc Sl -~ ;
3 ] i 30
ol & _ _
@& 5 . e~ (B by N
o A2 . (D)
€ X
a7, J‘ 3 a" Tﬁ#ﬂaﬁaﬁ‘f{}@raﬁ‘ﬁﬁﬁ 2
w2 ; w @ V3 By
Which of the followings the largest numbe’ i
(B) P 4
% (D) " ‘\ '. \
- ey "_"': 17 1 48 - a

Scanned with CamScanner
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[ 216809 ] 8et_H ) o ,:u;" -‘J_" ST

E W@ 95

. )py 105

3 : 4 and their LCM is 120 The sum of the number,

(A) 70

(C) 140

The ratio of two nu ,}

is )
(&) 70 | ' B 35 '
(C) 140 “~ "

et S % 60% ki qﬁ'“ﬂ"l 60 3Tl

(A) 1;({ i I_:_‘-' .-(1;3

D kg i e G Ta BRI R
from 60% of a number, the rg’__sult is 60. The number is-

boroo) . m 200y

e 2 25
If the cost price o ?‘S is éq‘r‘,_a:l',to the selling pncc of 20 books; the loss per
cent is e R I‘ |

&) ‘16 ¥ B) 20

© 24 A D) - 25 4l

. 18/ 48

“[sT-2801) |
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53.

T“ )

e

L) (A)T@Er (B) 3R

207
TP Uy,
COMPUTER 8Cipy s
| Q.Nos, B1 to 150 )
4 e 3 S T T S Y G any o 8 et 7 A s
FEa® 2

T
|

How can you update the values of formu], cells

ato Calculate mode of Excel
is disabled ? 3

(A) F8 _(B}- '

(C) Fl0

(D)
M T ¥ BN T § oo ey dvw

T S WS, NG MG H SR

Lg%l
s\ ? I

\ |...\

You want to set such that when you type Bais

Excel should produce Jaistha, Aashadh and so
that?

(A) Custom List 4 \_(.B)/ A o 1
A .
(C)  Fill Across Worksheet

. ~

Double CAL indicator on status bar

(B)  Go to Tools >> Options >> Calculatio? '-"'.I the corresponding radio
button - .

L
™

O FHAPEA ' %

% - 19/ 48

-
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utomatic or manual calculation mode in Excel ?

Where can you chang

(A)  Double CAL !-"..'*" ator on gratus bar
d mark the corresponding r,

(B) Go to Tools s» Options s>s Calculation an

button ;
(C) Bothof(A)® *

(D)  None of the

54, qua@aadwﬁz

you show orh de the gnd lines in

'rH W%ﬁﬁ@mmﬂaﬁ%7

How can Excel Worksheet ?

-/l/ Go to Tools

named Gridin€

ptlons >> Vlew tab and mark or remove the check b

(B)  Cliclk Gridline! 00l on Forms tootbar:

(C) Both(A) & _

(D) Nohe of thesé- '

‘_/ fpafarad Q&M LR
s cannot be turned on or off ?

xcel screen component

mﬁ#aﬁaﬁma‘qﬂﬁmmm% 2

Which of the followi ;;‘f;- ]
(B) Statu‘s Bar

‘/(-E))/ que 'of these

(A) Formula Baz_':'

(é) Tool Bar :

- o 37 TR g e F T @ 9l + X qard ¥ o 0 e

€72 ' : |

(A) ;elecu‘-'d ce x“ content, cell I HRY 2lhY clipboard o stored &l Sl
B~ A cells & -; ¥ R AT E |

(C) T cells Al S8 T cells It R AR GISIGE

(D) AR cells fef T G F Y 3R AR g 8

[ sT-28(11)

[ 216809 ] Set-H
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What happens when you press Ctrl + X g, ) gome cells in Excel ?

(A) The cell cor;tcnt of sclected cellg . ; om cell and stored in

clipboard

ghifted left

(B) The cells selected are marked for Cuty,

(©)  The sclected cells are deleted and y,,

cll

(D)  The sclected cells are deleted and ¢,

\5_7/ Pretfifgd W @ FA 91 (9T Paste Special 410

ifted up
# guersd 7 ¥ 2

Which of the following options is not availay), i Paste S ppc:al dialog box ¥

(A) Add (8) *
(C) Divide ' _(D)
39 220 T T e B 4ih ﬁ TG & fom ?

/

(A) Cutand Paste

B) Edit >> Paste Special >> Transpose
© @) I

o) wEE \_
Which command wﬂl you éhoﬁ_gé to convert a colin - Hata into row ? " ~—
(Al Cut and Pastc
_(B—"Edit >> Pasuzfpmal >> Transpose
() Both (A) and (B)
(D) None of these > - : :
‘Fg. 4 {58 worksheet T FHIqw Ccnsﬁﬁ%ma & iﬂTﬁi’m&ﬁ ?
(A Data ¥ Wafke Frhqeer cells & &1 &8
LB B daa TR e cells T
e et F fem "hﬁ o s abbrevial®” TR |
(D)  text W for a,tm-.-}, ﬁ ¥ @é anﬂ “ﬁ “}L
[ 216800 ] Set-H 21 / 48

Scanned with CamScanner



207

e {0 1et 1008 text flow jnto adjacen

red in the ﬂd_’ﬂCCﬂt cells

.It is acceptabl t cells on a worksheet when

(A) data will be ef

(B) ~ nodata will " ntered in the adjacent cells

(C) there is no "'_‘" blc ablyreviation for the text

(D)  there is no ime to format the text

afP ﬁaqﬁs'aﬁﬁmh Eﬁﬁw%ﬁmmmm%;

(A) Doctor's § mb Blg Plus)

(B)  Small thin t icon

(C) Mouse .-'- with ancho.‘r at the tip \

D) sﬂﬁﬁaﬁ%

Which of the cell w 1

:' s indicai:cs_you thﬁt‘jou can make selection 2

(A) Doctor's symb
(8)  Small thin plt

/(,GT Mouse Pom

(D) None of the

i gl

ﬁﬁrﬁﬁmﬁ#mﬂ :?fqaa"murﬁm@?ﬁ% i

(a) UID a@T

S

. F (139 Admxssmn ’H@T

(©) . Aceount ® _. ! i (D) PAN'}

Which of the follo X a primary kcy ina student lable ? Ry
(a) UID numbex‘ _(B}—-’- AdmlSSlOH number
(C)  Account nul (D) PAN
\/ﬁmfﬁﬁaﬁﬁﬁaﬁ‘m— ﬁ%TSQLCommand%7
Which of the following '_ 4 valid SQL comma.nd I
& (A) cin _. [B) cout
' ) tuple | s sy 2
| - 1216809 | Set-H o ‘ :
G - 1 L ST-28(II) 22 / 48
JM ; \: l { ; K
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wES GFHAU g & fe FA-UT Power Ty :

¢
which PowerPoint view works best for "d‘“h, aition ?
: ! Sliclg QRADSIEET .

nimations B
/w” o ‘ ) Chart! N
ition Wizard D !
o A W,
6. /()bjects%
g
Objects arc )
(A)  Design of function = . () crdl
(C)  Instances of classes | (D) -
¢5. U U& Embedded ¥ chart object I Wl at
‘TC"
\

(A)  Double clicking the orggl}i:'?ation chart objectil o
(B) Clicking edit object = -

(C) Right clicking the chart obje'pt, thgn .C]j‘c i o edi

object :
O  @T(Q3A. <\* B
You can edit an embedded organization chart objec\?ifgy .

&  Double clicking the organization chartobject

4 "‘\.‘,.I
(B)  Clicking edit object _ _ L&
(C) Right, ql.icking\the clhart objéct; |l;hcl‘l. cliCkmglle.dlt _NIS-OI’ganj :;Iauqn Cha.l't
object s
(D)« both (A) and (C)
66. Boolean SISV H AATER &
In Boolean algebra A.A is equal to
H : A
a A :
‘?‘;_ 1 \
C) A2 | ~ :
e . + ‘.. LLLT TP : - s8 0 z " 23 48
[216800 ) Setm - o ! sy
' “':i‘ )
e
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67.. e il &'ﬁ ferg m

B ¥ Uiy e o A & 7

-t Slide sorter can i ed from which menu ?
(8 View | @B Edit
(C) File : (D) 'Inscrt
68. Boolean errford ND operator 3T 14 )
/

In Boolean algebr_’ ,.ncﬁon of AND operator is

e - N
%%qﬁmﬁﬁﬂﬁﬂﬂﬁ?’ ik

formatted style ?

(A) +
<c /
69 /QEF ‘{é formatted

. What would you ch 0S¢ to create a pre-

[A)‘ Format < ."l‘ ’[B}/ Shde layout

',‘\ )

(D] ‘None of these

ﬁq'ﬂTBooleanﬁ?FTﬁﬁﬁ+ﬂﬂ?ﬁ§mﬁ?ﬁmW%7

(C)  Slide sorter vie

70. log;ic?l_‘
am or A% @ NOT
o nor €30 D) -AND
Which of the fo]lo": .,“ ogical operatmns is represcnted by the + mgn m Boolean
algebra ? | T }“ o T '
/m/ OR | () NOT -
© NOR ; D) AND
l1. Wﬁﬁﬁaﬁ'ﬁ?ﬁ “r Hﬁm%mwsmglecohcrentﬁmmgﬂ%
When collection of ..us' computers se_ems' .a s_,iﬁgle coherent systém to its

client, then it is called

(A)  computer nety 1 (B) distributed system

q () both (A) and .~
«-l ........... (B) !, .. (D¥” none of the mentioned

Scanned with CamScanner
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2 fears® e # §, 3R

72.

]ﬂ ®) @Mﬁwmwﬁ%
(B) ﬂ’ﬁﬁa’mﬁﬁwﬁﬁmmaﬂﬁ
€) ﬁﬁlﬂhﬁﬁﬁaﬂﬁmuﬁﬁw
D) ™ QA g T

Two devices are in network, if

[N a process in one device is able to,
(B) aprocess is running on both deyi,
(C) PIDsofthe Processes running o g

/[,D] - none of these - 3 |

network ? : : |
(A)  Prior network - | Chie gl,ileg;work
'. " k
_AC) Prime network _ layé networ

74. /"4 ﬁﬁé?ﬁﬁodes%_ : .
(A) the computer that oﬁginatcs the data - . R
(B) the compu‘ter that routes the data %
data

(C)" the computer that termmatcs the

L A .4 i
D) ™ I?r 'G":h
In computer nctwu;-k nodcs are
(A)  the computcf that originates th

ta
(B)  the COmPUtct'tl'lat routes the da

EA "
©  the computerthat terminate

\JB]/ﬂll of these,i

(216809 | Set-H

Scanned with CamScanner



207 ;
75, TR et et T @ A T R fay ST ¥
e T :
(B)  unicast nctwork i1

(A) broadcast networ

(D) ﬁﬁﬁﬂﬁijﬁ"f

hared by ali the machines on the network in

(€)  multicast networks

Communication channell

.,(M/bmadcast z‘ (B) 'dnicast hetwork

(©)  multicast networl (D)  none of the these

76. . ‘ Teh YT T ?ﬁ' L ts ﬁ routing Trﬂ?ﬁmof i processmg FH ﬁa* %
\/ §I¥ packets ﬁ forward i . i R .
(A) Bridge ' k. (B) : F1rewa11
(C) Router ‘Q'-'-Iﬁ' | F‘:ﬁ

ar s packets bctwcen net‘Works by prooessmg “the

-----------

" routing information inclu m the packct ., T “ e T \
. (4) Bridge E o ._ B Flrewall |- |
/fcl/ ﬁouter B 'ﬂ'_"'(D) 311 of these\ g ‘ -
77 éaﬁmﬂrmmaﬂ GﬂﬁT% “ B j | ; S
“ \F The structure or fotmat of d 2 a is callcd Wit H ; ; » \
(A) Syntax (Bj: Scmantlcs | C
Struct (D) None of th;se |
78. mmmﬁa ;mmmﬁwﬁa%“*
| Communication betwee: -m‘;_ computer and a keyboard 1nvolves ..........
transmission. ‘ . ' it .
sy Automatic | . B Half-duplex
(©) Full-duplex ' '.I . _.(D) | Slmplex
79. ﬁrﬁﬁﬁaﬁ?t{?ﬁm '.? TR T ? '
. ‘% Which of the follwing is ng"’- a ctwork edge device?
PC | 8 (B Smartphones
(C Servers . '1 . (D)  Switch ‘zl
L B Wretasm] L, 26/48
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Transmission T84T & e Nosyt :
3 5 }hi I f transmission speed ¢ ?
Which transmission media has th, hi '

hegy ¢ 1gaion speed in a nctwork;?

(A) Coaxial cable iy pair cable
(G~ Optical fibre -

) y ‘ “)) y
g1, ot UeR H R} 1 I e ¢ e M e
J AT
v.; (A)  Doctor's symbol (Big Plus)
(B  Small thin plus icon

(C) Mouse Pointer with anchor at tp, tip
!

(D) None of these
Which of the cell pointex_fsl indicates that yoy an | s :
18 _ Doctor's symbo] (Big Plus)
(B) Small thin plus icon g .
€ Mouse Poigtcf with__é.nchor at the tip. i

1

(D) Nonc of t_he:sc "8

szfmasﬁzmmﬁagﬁafamms
4
(a) wmqﬁtm

©) w%rﬁm@étm L%

On an Excel sheet the active cell 1s indi
(A a dotted bord r P

©" a bl‘mﬂng‘bordcr

~ - L

iy W“ﬂ@wmmammﬂﬂ“
-(J i By | e

What term dcscribcs explanatOi‘y text 8t R

(A)  Context ?

. (C) Commcnt.--;;‘f_ R .

27 /.48

.........
..........
-------------------------------
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[ ‘i "‘ p;‘l q:u‘;, r"‘ A 3
RN . SRS

gl celly &Rl AT Gl FHO 7

84, Y4 1} QA @ UE
glect Al ey %1 51T AT

- (A)  Usingthe Edit =
@) @ad W crl + AR
© e m se button A a1 e .
o) R '
Which of the rollowmg will not sclect all the cellsin a c.:locument N
(A)  Using the Edlt) .-.'.J éct All menu
(B) Pressing Ctrl + AOK the keyboard ,
_ﬁl/Clicking three with the right mousé button in the spread_sheet
(D) None of these . - _ -
\_s;/ e 7% workbook ¥ T8I  fcTL fegiee ¥t €
; d i ‘ workbook is ?

new data keyed in a new
_(B Normal

A (D] Per ccﬁt

(A) Comma
(C) Currency

\sé./ﬁ'ﬁ R 11e P B

If you Press ........... __'jcell accepts yo*'f typing as its contcnts

(A)  Tab, (B)  Ctrl+Enter

/(9}" Enter
/ﬁ%@ﬂﬁm—mmﬁgmwgm%;

Which among ll’_lc follgwmg ;s associated with Excel ?

; (D)  Alt+Enter

(p)  Graphic program (B)  Word Processor
(C) Prese ntﬂtion 4 / \-()}/‘ 1
‘. Spreadsheet
| l 216809 ] Set-H Y‘"" peeriilBoestevaasazassronsans eessessemmessassassssnasennasnnennsasansrnanstes
\ ST-28(I1) 28 / 48
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88. A T ¥ g Function ] a-‘féﬁ:ﬁ

( mﬁﬂﬁ(Tme]ﬂTW(Faj%)&,}ﬁ .

/

(A) NOT

fP:]
© IF

, (D)
Except which of the following funct;,,

the words "TRUE" or "FALSE" as 3 (.
S

() NOT

© IF

fy@ﬂﬁ,ﬁmﬁr‘@ﬁﬁﬁﬁq@;}g?;

Which of the following is not a valid 2y, ..

' 4 form

7.1
Suit

a logical function shows

+41 : P '-- 3 T —:r -a?rﬁ' ﬁ-‘:
90. Conditional Formatting @] {d T AT coveevec P faems fld =

(A) 10
(©) 300
b T € _
@A) T IF R B)
© (AT (B)3H % B
You can checl; the condition
formatting. ‘iiw;.f' ,
_(A)  CellVal
(G)  Both (A)UE\ 2
Mwm%

UNIVAC is

4
\,(A]/ \!

Universal Automatic Compute’

"

T 9§ FiE A

g agaisst -eesesees when applying conditional

T

Formula

.

None of these

.(B] Universal A'l‘ray Computer

(©  Unique Al:iiomauc Computer

D) Unvalued y utomatic Compute”
2 1530918“1, ............. - i 20

29 / 48
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92. U&H Computer BRI 14
(B) Logical operation

oy el AE

¢d by u computer arc,

(A) Arithmetic OF erit
(C)  Storage and I

The basic operations P&
| _Br Logical operation

(D)  Allof thesc

HTE ?

Who is the inventor Of &

/[A}’ Allen Turing,

(C) Simur Cray

4 ;o9
94. ~ Switching Y
= 4

(B) Charlcs Babbage

itching devices are for which gcneratlon computers

Microprocessors as swi
(B) Second Generation

(A) First Generation '

: 4 \_/[,B]’ Fourth Generation
/pOSH U AHE W | T :

\_[ﬁ,)/ Disk Operating M om0 (B) Disk Op:frating Session

i -“. i ' ]

_ Digital Of:cn System

() - Digital Operalm g System (D)
haracter Codmg System & | EBCDIC T 0 74 3

ﬂsar 3R EBCDIC Fﬂaﬂﬁq C
BCDIC are. thc popular character codmg systema What does

AsScll and E
EBCDIC stand for ?

‘_/()r)/ Extended B_ina;%éoac

(B) e Decimal Interchange Code

4 Decimal Interchange Code

Extended Bit Code

Extended Bit Cage Decimal Interchange Code

(€) _
(D) - Extended Binaryfi se Decim

ST-zs[H crrseneespas s e Y

al Interchange Code

P PITII L L LA LELELLS seaning J#f ......

[216809 | Set-H
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?-Vcompuler &-foen (S=I=T) g ¥ )
who is the father of Computer ?
Allen Turin
W i (1)
Augusta Adaming
(C) B
08 ?Imﬂ'ﬁ'q few@® Y HERUT &TH1 BT, E{,‘{;ﬂh
J u\)' tracks per inch of surface Ty bitl per inch of ol
| (C) disk pack in disk surface o) 'ﬁﬁ A aft
Storage capacity of _magnetic disk depengg i
(AL~ tracks per inch of surface B  bits per inch of tracks
disk pack in dxsk surface ' 0 all Qi‘ these
| ¢l
\ﬁ Hh & Ma.ln mcmory% LN
£ _
Ny~ Primary andiSecondary g\ B/ Hefidom nd Sequential
: e% ROM and RAM - m F'ﬁ :
The two kinds of majnlmemor_y al'f{ : =
") B) Random and Sequential
(A)  Primary and Secondary .
3 | ) All of these
) ROMand RAM
3 4 W FA F e IpE fea

1Q0. Wsmragearcamgaﬁwﬂﬁ ﬂﬁv’fﬁ%%
m%&mw‘hﬁm ":&aﬁﬂ‘m

A ot gpensate for the difference in speed at
storage area uscd to store data 10 €

is
Whlch the d]fferent unlts can ‘handle data

(A) Mcmnry ‘B]

M ' Acidress
e, | =
Accumulatog .

Buffer .

i

, : T 31748
1216805 ) Bor 1y Tgr-28(11

e i
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W@m}qmﬁﬁqwﬂﬁ-mgmﬁmﬁ

101. Custom Animation f&=

~1 g & wifee
| on path (g)  click the show effect button

I(D) b Eﬁﬁﬂ'ﬂé-‘lﬁ

(A)  double click ht
' 14
(C)  click the play &
: effcct using the custom animation task pane, we

To preview a motio P
should

(B) click the show effect button

(D)  None of these

(C)  click the play button - ]
102, T # @1 |1 SQL H D ommand € ? " -
) W
Which onc is a DCL comiid din SQL ?
(B) SELECT

v \ : ..'. ) { ." a ' " :
press and hold the lq'f{t mouse key and move
. *IL

(B Dragging

(D)  Highlighting

the mouse around the s

(A) Moving

(C)  Monitoring Ay
04, Frfafad 7 @ F @ ‘E ommand o1 ¥t ¥ Fer g @Bt S § 2

Which of the following 8§
(B) INSERT '

.

(A) CREATE
(D) UPDATE’_'_

\M/\ SELECT

[216809 | Set-H |

T 'sT-28(1)

A

T ; __

h .
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mﬁammwmmﬁq
Which of the followmg views ig the P

use when setting transition

uT
effccts for all slides in a presentati, , U viey

(A) Slide - [D] e I.e ViCW
Outline view | e sorter view
106. at.h.h
Mathh is a /
e .
(A)  Derived data type B)
ser Hecader ﬁle : D) Bu ";@t& type )

107. mﬁawmﬁzmmea
\7b (A) Qﬁlﬁcurrent slide % feTT

(B) Wﬁ?ﬁa’?ﬁ'ﬂ
16 qﬁqéuﬁfaa’ramﬁmmﬁ%a%q
o wFHATR

The sclected design’ emplate can be appied

(A) 1o current ‘? only
\p)/toa]lthc s} .e,a»’jf e

(©) you e

to all thc\né“g}_prgsgntatioﬂ

33 / 48
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The difference petwee

(a) Botharesan® S

/(—51/ Auto Content ¥ W :

(C)  Slide Design d°$-n°t Provide sample co

ntent‘but Auto Content Wizayy

prowdcs sa.m
(D) Slidc Design ?:‘_Y»':*;.'o choice in stéps but Auto Content‘Wizard does not
let you make choit
109, fwg g T STl FILS & .mﬁmaﬂﬁﬁﬁrqﬁwﬁrﬁaﬁﬁg !
~ .;- -‘ I: . b | \ | ‘
N find features like Slide Dcsign','fShde Layout etc. ?

(B) - ‘Format Menu

(D) Slide Show Menu
, 1SS transition 9 faeed wqH

(A) Insert Menu

A:; - \*)/ Format Menu
;

(C)  Tools Menu (D] Shde Show Menu

111. _amgtwaﬁtﬁwm@gﬁﬁm% ‘r‘?rﬁ's'rrﬁﬁ% , £
| 70 (A) AccuraCy X 4 (B)  Reliability
(C) | Diligenece - _ (D)  Versatility

Computer is free from tiresome 214 boredom. We call it‘

\}m_f Accuracy | ' (B)  ~Reliability
(C)  Diligenece i : (D) - 'Versaﬁiit)f
1216800 y get.y T ST-28(II) | 34 / 48
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1'12. ntegrated Circuits (ICs) Bt 1ﬂ(ﬂ & | o

5

jhl
Integrated Circuits (ICs) are relateq . U1 rﬂiﬁﬂm # ?

} i
(A)  First generation s th pcnﬂl’ﬂ“"" RE-omtpuicns ¢ v T L
@y~ Third generation " 9‘?""‘! RRperation
) rth encration
‘ROM ¥ Fagi &
113./99'1? Uh 3
- (A)  Semiconductor memory,
1) Memory register,
(C) Magnetic memory .

b e

CD-ROM is a

(A) Sezn'monduc.:tor memory B Memory régister
(C) Magnetic memory

114. TF hybrid computer )
P(A) fefstea EUIET“WT% & @
(B) TN W\m ¢ |
© T fefrea ﬁﬂT TR 'q'mla st
o T | &I :Iﬁ

D) Noﬂg of these |

A hybrid computer

_J_A'.}/ Rcscmbles c&igita.l computer

(B). Resembles a;iaidgue Ict:JIIlPUt‘“’r

. (o)
Resembles bo\ﬁhas digital and analog® © ,mpu‘ter

None of these

€

(D)

' \ s ?W%Wﬁsﬁzmwﬂmﬂmw% fRt EBCDIC el STl

led E
Which type of °°mputer uses the 8-bit €0 d (alled EBCDIC ?

(A - MICI'OCOm uters
) Mmlmmputera @ 3
A Mo B T SUDercomputer
. Yainframe Computers ' (D) L
[21680q s L% ' 35/ 48
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W?"mpumﬁ AL ) adet @1 I 2 &
“The ALU of a compt ds o the commﬂﬂds cgmins from
\'(M primary ™ mem 43)/ control gection
Exlet!!ll net (D) Cache memory »
\/ﬂw & o1
mnais rs \'(Bj/ vacuum Tubes aar Valves
'- it @ T

‘C) -.ui Cir (D)
Chldmmpan : -.'."_'_: i € I‘Eltion COmputer was
: (B) Vacuun:t;’l‘ubes and Valves

(D) None of these

© ]
118.
"és mﬂfﬂ T a’r am_ﬁ'fr oot & A gl %

RH-SRH %| PR o

b | < P |

%o a 001?1 ardware and software that facilitates the sharing of

inic -:f dew:ées.

(& | 3) '

) (B~ Peripheral
© ;
(D)  Digital device

/G‘E)( 4 bits } o
D) 9 bits * ' b

LS M%Wﬁﬁwma

1

(B) MSI
) (A) T (B) JHL

used in third generation of computers ?

‘<

«(B)  MSI

36 / 48
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121. End Key 207
‘_f (A)  Cursor I line % 3 TH aﬂ]‘m%
A corer ® document s, w .
(C) Cursor S pﬁragraph;g; 3 m)mﬂ'?" ;
(D) Cursor % screen % \'H?T ?ﬁ?-w]?:'% l
End Key _ ' ! "
() Moves the cursor to the end of thcl'.nc
(B) Moves the curéor to the end of th'»‘tlucume'n.f
(C) * Moves the cursor -to‘tlhc end of th, -
(D) Moves the cursor to the end of th, -
122. "Ctrl+Page Down" I ST fepam <t} :’- s
" (A)  Cursor C3l W paragraph Eie] T %{q% \
)B)/Cu\rsor'aﬁ U page A 9@ & v
(C) Cursor Eh’fﬁaﬁ line A T o ff '
(D) Cursor E| Uﬁ Sérecn A T & W {3
"Ctrl + Page Down" is used‘to )
(A)  move the cufsor one pa{'agl'aph do?
(B)  move the cqx"fsorlone page down
(C) move the cu;éor one line down
(D) " move thc-cugé- one screen dow?
123. “Cuwl+ Down Arcownigg ST m.ﬂ?ﬂi. .
}/ (A} Cursor &} W'?aragraph 2 aﬁﬁﬁ
: MCursorqﬁ@ﬁn :Pfﬁﬂﬁlﬁa;%
| f
37 / 48
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i i e e

"Ctrl + Down Arrow” sl

(A)  move the cursﬂ_'r

(13)  move the -‘;-’-'

(C) ~move the curso

(D)  move the curso J

1\24' et A A B non-lincak

“ Which one is a non- '-..
(A)  Stack

(C) - Linked list

125./,_."Ctrl + Left Arrow” - ..";'J

(A) Cursor &I line &

(B}~ Cursor &l .

(© Cursor ® U% pa E.
(D) Cursor &I T pars

“Ctrl + Left Arrow" is U

(A)  move the .-

(B8) move the cursor e

(C) move the cursor on,

(D) move the cursor

o
\ Abstraclion meansg
" .
\ (A) S“merJ'Zation
© Hiding )

v (216805 gy i

the beginning of the line 3

_ paragraph up

" sT-28(1)

o

PATARTO L down
nc (]I)wn

HEC (IUWn

screen down

Ty )

de ta structure ?

One paragraph down

126. Abstraction Tﬂw# A

\_(B‘}/ Elimination

(D) Casting

Scanned with CamScanner
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\//‘ Ctrl + Page Up" key I I 3:'?" %
_/W/ Cursor # T page HT ﬁ W %

(B) Curaor H TH paragraph IW F}
(C)  Cursor ®l T& screen IR A R H
(D)  Cursor %I TF line FW o T & fid

"Ctrl + Page Up" is used to 1
&) move the cur sorone pageup | N
(B)  move the cursor one_' Pérégraph 3 { 1 |
(C)  move the cursor one scréeh: up . . I
(D) mofé the cursor one line uﬁ E & ™ ,x; '. ! J
128. Polymorphism ......... .. I TF ﬁq’mﬁ'r 4 k e
| Polymorphism .is' fesfiire of _ I 4_ : “ - row:
(A)  Procedural programming gt N
(C)  Non-procedural programmir'ig ' Oriented P,I'lefammmg
129. "(,trl + Home" key Edl W gl T |
/(A)/ Cursor %I document ﬂ? ‘\’15 A ETF}
(B) Cursori?fv’rluuzaﬂ’l?aﬁf"”“‘)fa*'f\Fiq
(C) Cursor Y paragraph & I e Fﬂ#
(D) e e
"Ctrl + Home" is used to ol
{A)  move the cursor to the beginning ' Lme; " .‘
(B) .movc the cursor to the beginning Ofp ﬂ& |
(C)  move the cursor to the begmmng o agrgBh 3
O aroriese - W §
........ LW - /":;B
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/'(Ctrl - End" key I

e
Cursor cal line * :

[A)

_JB‘)/ Cursor ® dDC“ "'-' % 30 1 o s & fere
() Cursor ®I p&fﬂ; Ph & 3 3 o o & R
o) TR

"Ctrl + End" is used tO'IB..

 the end of line

(A) move the cursor &
(B) move the cursor 10 the end of document i

8 . A ( - .
()  move the cursor 10 the end of paragraph N

none of thesé

\/}/saﬁ?w%?

A smglc networ;

ﬁ//ﬂ vast co

(c) Intcrconnection*_:‘. i
e I
i

What is inlcf'nct rE % )

(D)

liection | f d1ffcrcnt networks

local area netw_orks

A) A single network
(B) A vast collection of dlfferent networks :
(C)  Interconnection of local area networks

(D)  none of these

\)/W“W*%wﬁamﬁ

l'r i
o join the internet, the computer B

(A) inte '
) internet architectyre board

(C
\)/ internet service Rrowdﬁr

---------
------
"""""""""""
sun,

as to be connected to a

(B)

-------------------------------------------------------

1ntemet socnety

none of these

-----------------------------------------------

t I__‘i
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133. U WM TehH Heaw & ORI W feffe . ity s
\ g : .:j\. wires of a local telephone r‘_;
Internet access by transmitting digital % . W‘:}\;
network is provided by ' R ‘ =y
) al subscriber line e
Mcased line 3 _ ¥
oo one of the mentioned ¢
(C)  digital signal line . , :

134. ISP 3UH =Zael o o9 e oftheh I 3
7[ (A)  internet exchange point ; subscriber end point

(C) ispendpoint O §

ISP exchanges internet traffic between th

(A) . internet exchange point ubscriber end point .

(C) isp end point ; hone of these il
135. Frefefaa & § # @ St 0 3 SHAMIERT fohar ST € 7
-’L (A)  HTTP 8], DHCP
@ Dns o 3
Which one of the following protocols is 1O tused in internet ? : 2
T ‘_ X
" B) " DHCP N
()  HTTP, | IDtCP . .,E
(C), DNS (D) None of these j&;?

¥ 9 53 7

136,/1Pv6 address 3 g e
| B) 64l

@) \ N2 die L 3 _ li}
IPv6 address i R \ e
ss has a size of : | K*

(A) 32 bita;v : (B) 64 bits _ ;:
Y ! : . _ |

(C) 128 bits 265 bits "

i
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I,,--w— _‘-Wﬁﬂmi !ﬁ{“j J,»,)isuiﬁ ,*,1 ‘y& , ‘I fig TR e S TR IR TR S

\wylmcmcl T e & - : : " N | \

) /{A) packet switching W

(B)  circuit switching W B
) . (C) puc]\ot switching T cucmt qwii.chlﬂg ﬁ—'ﬁ

D) T F : W

Internet works on
(A) packet switching ¢ dahd h % \
(B) circuit switching

\ | "r %
(C) both packet switching and c:rcmt smtchmg \ !t ric, |
. ‘ !

-t

(D)  none of these

138. ﬁﬁﬁf@ﬁﬁ@ﬁ?@ﬁﬁﬁﬂﬁﬁﬁﬂﬁAppﬁcahon laycr'ﬂ‘sfaﬂt_"f:lﬁ

\/“E-’ 2 ;sjﬁjja?- (Eg U

(A) remote procedure call t (B] : mtemet relay chat AR

"'Jp) rcsoﬁrce reservation.,i:rotocol " FI'EI @' aﬂé T-Eﬁ

Wluch one of the fol]owmg 18 not an apphcauQn layer protocol used in 1nternet P

Vi TR

: e
(A) Remote procedure call ! '[B.].- 0! Internet relay Chat

(C)  Resource rcservat:on protocol ‘ID] None of thesc

. I 1T, 3T 7 LT
l ] T Clent TP Address T & 7
} (A).  DHCP _ | __; (1.3). i
| : : i ¢ ..
| (€) RPC | 0 qﬁg
Which protocol assigns IP agtsess tofl - 3
’ Client éDnn' 4 -
. €Cted in the internet P
(A) ~ DHCP A R _
(C) RPC

[ 216809 ] Set-H
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¥
'
i\

i

I - 140 Mcdia Acccss Control e} ﬁqﬁ"&q;‘ §

7,‘) (A) cthcrnct . R .
B) d1g1tal gubscriber line :
(

(C~ fiber d
Eﬁﬁaﬁéﬂ‘tﬁ

e of the following is not yg, din media access control ?

xstrlbuted data mtcrfat

(D)
Which on
(A) Ememét

(B) ' Digital subscriber line

€)... Fiﬁcr distributed data interface

(D) None of‘t.hese

14179,
'-(A) ,organizatidn_of data | (B) \ programmmg standard
(C) codin_g. (D) program desxgn .
Term, Data Sttl'ucture refers to"f'_.-.; ......... and mterrclanonshlp between them:
| organization of data . (B] programmmg standard
- ‘l(f)/codmg, ®) ‘_prOgratm d:emgnl’
L4z, 3 HEH, I mﬁsg’l el
. "f In data structure, data m:ay of ......... types- , | _ : .

(A) 1 & N - (B)E2

»: . HE ok . %
‘ STl
\%nablessﬁpmgmma;wmoduwsmﬂq@rwm% 349 el

odules of the program is called
' Variables which can be accessed by 9 .

= B 'Auto‘
1A  Global ﬁl‘,‘: (B) :

(C) Static Local

[216809 | Set-H 23748
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e T N L e R ] ' K B 1 W iaERly % Y N F N Ve B Tl N e Ve ety
L — o ERe el Gy T :-h‘r‘&t:‘t" :"L"L P Y 1ol e R
— e :

" qr], fema < R .l
k’F- Stack, Queue 3N Linked Wst ............ ] 394 T
[ \

Stack, Queue and Linked list can be implemented using

A" numecric variable ()  string yariable

(C)  logical function | (D) array N
145. Hyperlinks, T& Word document aR ua’.ﬁﬂﬂ arar et i
NP (A) EG:\* word document

(B) www T T& webpage

() TR 31'5'?{;1'3[ Internet 9 U&h webpage ; ;

o) T & et B %0 “ -

Hyperlinks can be created between aIWord doculx:hcnft and

)@( another word document J II & & 3
(B) a webpage on the www I'\ .. 2y ¢ _. ;’ \! : Y

(C) a webpage on a company Internet

. I.‘ i I

\/(Dj all of these ), B % | i
‘\; . . )

146..// HY clip art, Insert HI ?ﬁ'ﬁ g

(A)  Insert choose Pictures T9 Clip Q{t q 1% \
(B) Choose Clip Art icon, @_Drawing':"?ool'bar' .a;“';,'
ey (T | o AR

- \ & 'é‘ % : 5 ‘ ,\, ¢ :

You can insert fhc clip art from - . : * <

(a)  Insert choose Pictures then Cﬁp- Ar‘t ' ; u::‘ i

: (B)  Choosc Clip Art icaﬁ from D l‘&wing' éoo!bar ... :

} (C)  All of these \ ‘ ‘?

(D)  None of these 5 _ . ﬁ
1 [ 216809 ] Set-H (= - ..% .....................
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 Which of the followmg cannot be don, © Wit 148 méflt \'edaion 7
aversmn |
A e N g
(C) Opening a verslon (D) ‘None of these

& mmwhﬂwﬁ@ﬂﬁ%ﬁm aﬁsi’ § O

1
i When you drag selc_qted text, you can

A Delete text : B)  Link text
(C) Copy text : D) SMove -
149. 39 T&h word docu_ment e} @?[ $T m ‘g

._'. eleting a version

(A) Formatting é?TFIQ (B) ,‘_' pec1a1 characters % feTq
(é) Phrases t%‘TQ' & (D)-. e @H";ﬁ

-You can search!in a word document for - \

““Special characters

{A)  Formatting | : (B)"
() Phrases ' (D) g All of_“th'ese

\/mmﬁ@wmﬁhwﬁmﬁ%"ﬁ?*'
&) U e fomiw w TmEe W 3{ e
LB e s o @ TR
© ﬁ?ﬁﬁm#a@m T

B L
O TR i | : ‘
You can add a date to a document by
(&) Insertinga text date -

(B)  Inserting 5 dute ficld thathwil ypdate automatlcally

(C) WPlng‘the date manually

Mf thc.se' ' :

o
0,

---------------
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